Patricia A. Peshka

Purchasing Agent



Frank J. Picozzi

Mayor

### City of Warwick

Purchasing Division 3275 Post Road Warwick, Rhode Island 02886 Tel (401) 738-2013 Fax (401) 737-2364

#### **Bid Minutes Tuesday, May 3, 2022**

**Bid2023-025** Analytical Laboratory Services

**Bid2023-029 Medications for Emergency Medical Services** 

Bid2023-030 Medical Supplies & Equipment

**Location:** The meeting was held in Lower Level Conference Room

**Present:** Pat Peshka, Purchasing Agent

Dan Ogilvie, Bid Specialist Jason Umbenhauer, WFD Gerard Bogossian, WFD

**Representatives:** None

All bids have been properly advertised. A Certification & Warrant Form must be included in each bid or the bid will not be accepted. Vendors are free to view all bids once they are opened. All bids will go to the departments for their review and recommendation.

The next council meetings are May 16, 2022 and June 6, 2022 at Warwick City Hall. The City Council meeting begins at 7:00 P.M. The Finance Committee meeting will be held at 5:00 P.M. The 5:00 P.M. meeting is when vendors are given the opportunity to speak.

Respectively submitted,

Patricia A. Peshka Purchasing Agent

• 1 Bids Received

## **R.I. Analytical** 41 Illinois Avenue Warwick, RI 02888

| SCHEDULE OF PRICES                 |                 |                                     |                                     |
|------------------------------------|-----------------|-------------------------------------|-------------------------------------|
| Name of Laboratory:                | R.I. Analytical |                                     |                                     |
| Test Parameter                     | Total<br>Units  | Unit Price<br>(numerical<br>format) | Total Cost<br>(numerical<br>format) |
| Fecal Coliform (A-1)               | 210             | \$14.10                             | \$2961.00                           |
| Enterococci (IDEXX<br>Enterolert®) | 210             | \$22.20                             | \$4662.00                           |
| Male-specific Coliphage            | 50              | \$100.00                            | \$5000.00                           |
| Surfactants (MBAS)                 | 50              | \$23.52                             | \$1176.00                           |
| Total Phosphorus                   | 120             | \$11.52                             | \$1382.40                           |
| Orthophosphorus                    | 30              | \$9.30                              | \$279.00                            |
| Ammonia                            | 138             | \$12.72                             | \$1755.36                           |
| TKN                                | 90              | \$28.68                             | \$2581.20                           |
| Nitrate                            | 90              | \$10.20                             | \$918.00                            |
| Nitrite                            | 90              | \$10.20                             | \$918.00                            |
| CBOD <sub>5</sub>                  | 440             | \$21.00                             | \$9240.00                           |
| Total Suspended Solids             | 20              | \$10.20                             | \$204.00                            |

| SCHEDULE OF PRICES - continued   |       |                                     |                                     |
|--|-------|-------------------------------------|-------------------------------------|
| Test Parameter   | Units | Unit Price<br>(numerical<br>format) | Total Cost<br>(numerical<br>format) |
| Total and Available CN   | 32    | \$36.96                             | \$1182.72                           |
| Oil & Grease<br>(Gravimetric)  | 32    | \$40.80                             | \$1305.60                           |
| Oil & Grease<br>(Non-polar)  | 32    | \$69.60                             | \$2227.20                           |
| Chloroform   | 8     | \$66.00                             | \$528.00                            |
| Weekly Metals:<br>Lead, Total  | 116   | \$11.40                             | \$1322.40                           |
| Weekly Metals:<br>Aluminum, Total  | 116   | \$11.40                             | \$1322.40                           |
| RIPDES Quarterly Metals (7): Cd, Cu, Pb, Ni, Zn, Al and Cr (VI)  | 8     | \$82.50                             | \$660.00                            |
| RIPDES Local Limits<br>Metals (17): Cd, Cr, Cu,<br>Pb, Ni, Ag, Zn, Sb, As, Be,<br>Hg, Se, Tl, Al, Fe, Mo and<br>Cr(VI) | 8     | \$148.50                            | \$1188.00                           |
| Priority Pollutant Scan:<br>see ATTACHMENT D   | 32    | \$564.00                            | \$18048.00                          |
| Quarterly WET Testing  | 4     | \$2607.00                           | \$10428.00                          |

| SCHEDULE OF PRICES - continued               |       |                                     |                                     |
|--|-------|-------------------------------------|-------------------------------------|
| Test Parameter                               | Units | Unit Price<br>(numerical<br>format) | Total Cost<br>(numerical<br>format) |
| Thickened Sludge TCLP                        | 1     | \$540.00                            | \$540.00                            |
| Thickened Sludge<br>Total Metals             | 1     | \$126.50                            | \$126.50                            |
| Thickened Sludge<br>PCB's                    | 1     | \$70.20                             | \$70.20                             |
| Thickened Sludge<br>Reactivity: Sulfide      | 0     | \$30.00                             | \$0.00                              |
| Thickened Sludge Percent<br>Total Sulfur     | 0     | \$75.00                             | \$0.00                              |
| Thickened Sludge Flash<br>Point/Ignitibility | 0     | \$19.00                             | \$0.00                              |
| Thickened Sludge<br>Reactivity: Cyanide      | 0     | \$30.00                             | \$0.00                              |
| Thickened Sludge<br>Phosphorus               | 0     | \$27.60                             | \$0.00                              |
| Thickened Sludge<br>Corrosivity/pH           | 0     | \$15.00                             | \$0.00                              |
| Thickened Sludge<br>Percent Total Solids     | 0     | \$12.60                             | \$0.00                              |
| Thickened Sludge<br>Percent Fixed Solids     | 0     | \$0.00                              | \$0.00                              |
| Thickened Sludge Percent<br>Volatile Solids  | 0     | \$12.60                             | \$0.00                              |

| SCHEDULE OF PRICES - continued          |       |                                     |                                     |
|---|-------|-------------------------------------|-------------------------------------|
| Test Parameter                          | Units | Unit Price<br>(numerical<br>format) | Total Cost<br>(numerical<br>format) |
| рН                                      | 0     | \$9.60                              | \$0.00                              |
| Alkalinity                              | 0     | \$11.40                             | \$0.00                              |
| <b>Total Hardness</b>                   | 0     | \$22.80                             | \$0.00                              |
| Total Dissolved Organic<br>Carbon (DOC) | 0     | \$34.80                             | \$0.00                              |
| Total Organic Carbon (TOC)              | 0     | \$24.00                             | \$0.00                              |
| Volatile Suspended Solids<br>(VSS)      | 0     | \$10.20                             | \$0.00                              |
| Hydrogen sulfide                        | 0     | \$32.40                             | \$0.00                              |
| COD - High Range                        | 0     | \$21.00                             | \$0.00                              |
| COD - Low Range                         | 0     | \$21.00                             | \$0.00                              |
| Total Residual Chlorine<br>High Range   | 0     | \$11.40                             | \$0.00                              |
| Total Residual Chlorine<br>Low Range    | 0     | \$11.40                             | \$0.00                              |
| Settleable Solids                       | 0     | \$11.40                             | \$0.00                              |
| Iron, Total                             | 0     | \$11.40                             | \$0.00                              |

| SCHEDULE OF PRICES - continued               |       |                         |             |                                     |
|--|-------|-------------------------|-------------|-------------------------------------|
| Test Parameter                               | Units | Unit I<br>(nume<br>forn | erical      | Total Cost<br>(numerical<br>format) |
| Cadmium, Total                               | 0     | \$11.40                 |             | \$0.00                              |
| Chromium, Total                              | 0     | \$11.40                 |             | \$0.00                              |
| Copper, Total                                | 0     | \$11.40                 |             | \$0.00                              |
| Molybdenum, Total                            | 0     | \$11.40                 |             | \$0.00                              |
| Nickel, Total                                | 0     | \$11.40                 |             | \$0.00                              |
| Silver, Total                                | 0     | \$11.40                 |             | \$0.00                              |
| Zinc, Total                                  | 0     | \$11.40                 |             | \$0.00                              |
| Hexavalent<br>Chromium                       | 0     | \$21.60                 |             | \$0.00                              |
| Total Toxic Organics<br>(EPA 624.1/625.1)    | 0     | \$276.00                |             | \$0.00                              |
| ALL INCLUSIVE TOTAL COST (numerical format): |       |                         | \$70,025.98 |                                     |

## **Bid2023-029 Medications for Emergency Medical Services**

• 1 Bid Received

**Bound Tree Medical, LLC** 5000 Tuttle Crossing Blvd Dublin, OH 43016-1534

**Pricing as Follows** 

### Bid2023-030 Medical Supplies & Equipment

• 11 Bids Received

#### American 3B Scientific, LP

2189 Flintstone Drive, Unit O Tucker, GA 30084

### **Bound Tree Medical, LLC**

5000 Tuttle Crossing Boulevard Dublin, OH 43016-1354

### Healthy School Supply, LLC

2093 Philadelphia Pike, Suite 3156 Claymont, DE 19703-2424

### Heartland Health PPE, LLC

6866 Chrisman Lane Middletown, OH 45042

#### Lerolav NE, LLC

600 Broadway, Suite 200 #1331 Albany, NY 12207

#### **Medline Industries, LP**

Three Lakes Drive Northfield, IL 60093

### Mersi Distribution, LLC

1000 Brickell Avenue, Suite 715, PMB 1423 Miami, FL 33131

### Stryker Sales Corporation, Medical Division

11811 Willows Rd NE Redmond, WA 98052

#### The Glove Box, Inc.

6413 E. Don Julio Street Long Beach, CA 90815

## **U.S. Health Express Corporation**

18701 Arenth Avenue City of Industry, CA 91748

#### Vessel Medical, Inc.

6000 Pelham Road, Suite A Greenville, SC 29615

**Pricing as follows**